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61-1 ... my old grandfather every week since I ... 18 years old.
1) have visited / am 2) visit / am
3) visited / was 4) have visited / was
62-1 really want to travel around the world some day because I enjoy ... different people and ... new
places.
1) meeting / seeing 2) to meet / see 3) to meet / to see 4) meeting / to see
63- All of us know that ... a foreign language well takes a lot of time and effort.
1) learn 2) have learnt 3) learning 4) we learn
64- Being a firefighter is a difficult but an exciting job. I ... in many missions for the past 25 years.
1) was 2) have been 3) am going to be 4) am
65- It is a common belief in India that swimming in Ganges River will wash sins and cure ... .

1) diseases 2) feelings 3) regions 4) causes



It is bad to have food stuck between your teeth for long periods of time. This is because food
attracts germs, germs produce acid, and acid hurts your teeth and gums. Flossing helps to remove
the food that gets stuck between your teeth. This explains why flossing helps to keep your mouth
healthy, but some doctors say that flossing can be also good for your heart.

It may seem strange that something you do for your teeth can have any effect on your heart.
Doctors have come up with a few ideas about how flossing works to keep your heart healthy. One
idea is that the germs that hurt your teeth can leave the mouth and travel into your blood. Germs
that get into the blood can then attack your heart. Another idea is based on the fact that when there
are too many germs in your mouth, the body tries to fight against these germs. For some reason, the
way the body fights these mouth germs may end up weakening the heart over time.

Not every doctor agrees about these ideas. Some doctors think that the link between good
flossing habits and good heart health is only a coincidence. A coincidence is the occurrence of two or
more events at one time apparently by mere chance. The incidence of these events is completely
random, as they do not admit of any reliable cause and effect relationship between them. For
example, every time I wash my car, it rains. This does not mean that when I wash my car, I
somehow change the weather. This is only a coincidence. Likewise, some doctors think that people
who have bad flossing habits just happen to also have heart problems, and people who have good
flossing habits just happen to have healthy hearts.

The theory that flossing your teeth helps to keep your heart healthy might not be true. But every
doctor agrees that flossing is a great way to keep your teeth healthy. So even if flossing does not help
your heart, it is sure to help your teeth. This is enough of a reason for everyone to floss their teeth

every day.

66- Which of the followings would be the best title for this passage?
1) Why Doctors Disagree about Flossing 2) How to Keep Your Teeth Healthy
3) Flossing: Your Way to a Healthy Heart 4) Flossing by Coincidence

67- Somewhere in the passage, the writer gives the meaning of the word “coincidence”. Which of the
followings is its best description?
1) It refers to the two events happening at the same time.
2) Washing a car apparently leads to weather change by chance.
3) It refers to reliable cause and effect relationship between events.
4) Flossing the teeth and heart attacks have a cause and effect relationship.
68- Flossing effectively helps to keep your mouth healthy by preventing ... .
1) germs from producing acid 2) food from entering your body

3) germs from entering into your blood 4) acid from contacting your teeth and gums



69- In paragraph 3, the writer writes, “Not every doctor agrees about these ideas.” The writer's purpose
in writing this sentence is to ... .
1) provide an example 2) introduce a new topic
3) change a previous statement 4) clarify an earlier claim
70- Which of the followings best states the main idea of the final paragraph?
1) Because doctors do not agree that flossing will help your heart, it is useless to floss.
2) It is a fact that flossing can help your heart as well as your teeth.
3) Even if flossing is only good for your teeth, you should still do it every day.
4) There is no good reason to believe that flossing will help your teeth, but it is still a good idea to do it every day.
71-1 have written the letter, butI ... it....
1) haven’t posted / still 2) have posted / yet

3) haven’t posted / yet 4) haven’t posted / ever
Jules Verne was not an inventor but a great writer. In his books, he wrote about the ...(72)... of

tomorrow in such careful and complete ...(73)... that university professors studied his books and
spent weeks ...(74)... over his figures. When his book about a journey to the moon was published,
500 people wrote letters asking to ...(75)... the next trip. Verne lived to see many of his ...(76)...
wonders come true. He was not surprised that they came true. “What one man can imagine,” he

said, “another man can do.”

72-1) risks 2) habits 3) heartbeats 4) events
73-1) balance 2) detail 3) pressure 4) pyramid
74-1) to go 2) go 3) going 4) went
75-1) begin 2) get up 3) hurry up 4) turn on

76-1) practiced 2) varied 3) imagined 4) noticed



Many are surprised to learn that Antarctica is nearly twice the size of the United States. The
name Antarctica was created to mean “opposite to the Arctic”. It is just that in many ways.
Antarctica is a high, ice-covered landmass. In the Arctic, the landmasses are grouped around the
ice-covered Arctic Ocean.

Largely because of this difference, the climate of two areas is very different. Antarctica is the
coldest area in the world. On the average it is about 30 degrees colder than the Arctic. At the
South Pole, nearly 10,000 feet high, monthly average temperatures run well below zero. Only in
regions near the ocean sometimes do temperatures rise about freezing in the summer (December
to March). In contrast, near the North Pole monthly average temperatures often rise above
freezing.

At both poles, daily temperatures may drop far below the monthly average. At the American South
Pole Station, winter temperatures sometimes fall below -100 degrees Fahrenheit. Elsewhere, on higher
parts of the south polar region, even lower temperatures are recorded. A temperature of -127 degrees
Fahrenheit was measured in August 1960. It is the world’s record of the lowest temperature.

Partly because of this climate difference, the land animals and plants of the two regions are
very different.

77-1t can be concluded from the passage that there are many people who ... .
1) think there is no Antarctica
2) cannot imagine how cold Antarctica is
3) do not know how great in size Antarctica is
4) do not have a clear idea about the landmasses in Antarctica
78- By the phrase “this difference” in paragraph 2, the author refers to a difference in ... .
1) size 2) physical features
3) climate 4) geography
79- Which of the following is NOT true about the climate in Antarctica, according to the passage?
1) On the average, it is colder than the Arctic region.
2) It doesn’t have the same average temperature all over.
3) It is the coldest place in the world after the Arctic region.
4) In some parts of it, temperatures sometimes rise about freezing in the summer.
80-The passage most probably continues with a discussion of ... .
1) why animals and plants are rare in cold regions
2) the effect of the climate on plant and animal life
3) how animals and plants adapt themselves to their environment

4) some differences between Antarctica and Arctic in relation to animal and plant life
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